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Question Number : 1 Question Id : 3922664881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The five rings on the Olympic flag represent

l. Five Continents of the world

24 Five Oceans of the world

3. Five ancient Olympic cities

4. The Five Elements (Panchabhutas) in nature
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Question Number : 2 Question Id : 3922664882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify correct sentences related to 101* Satellite launched by
ISRO

a) EOS-09 Satellite
b) PSLV-C6l
C) Agriculture, Forests, National Securities
d) Successfully launched
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Question Number : 3 Question Id : 3922664883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first Governor General of Independent India is
1. Lord Mountbatten
& C. Rajagopalachari

3 Lord William Bentick
4. Warren Hastings
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Question Number : 4 Question Id : 3922664884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Match the following
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Options :
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Question Number : 5 Question Id : 3922664885 Question Type : MCQ Option Shuffling : No
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a. Netherlands
b. Beijing
€. Iran
d. Iraq
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The authority to approve the state budget when it is under

President’s rule

1. The President

-2

The Governor

o

The Parliament
4.
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The State Assembly
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Question Number : 6 Question Id : 3922664886 Question Type :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

MCQ Option Shuffling : No



The Chairman of Advisory Committee on Fundamental Rights
of the Constituent Assembly was

1. Jawaharlal Nehru
2. Vallabhbai Patel
; B.N. Rao

4. B.R. Ambedkar
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Question Number : 7 Question Id : 3922664887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The bonds issued by the World Bank in 2014 to support
infrastructural projects in India are

I Samural Bonds

o

Dimsum Bonds
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3. Honey Bonds
4. Masala Bonds
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Question Number : 8 Question Id : 3922664888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs
a. Basava Puranam — Gonabudda Reddy

b. Rajasekhara Charitam — Kandukun

. Dasarathi Satakam — Kancharla
d. Chaduvu — Kodavatiganti
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Question Number : 9 Question Id : 3922664889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first National Security Advisor of India was
1. Shiv Sankar Menon

Z Brajesh Mishra

3 Ajith Doval

4, M.K. Narayana
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Question Number : 10 Question Id : 3922664890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct pairs
a. First female governor — Sarojani Naidu

b. First Chairman of National Women Commission —
Jayanthi Patnayak

C. First women Chief Minister — Suchitha Krupalani

d. First female fighter jet pilot — Avani Chaturvedi
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Question Number : 11 Question Id : 3922664891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The famous painting *Nair Lady’ was painted by

1. S.H. Raja

2. Jamini Roy

3. Raja Ravi Varma

4. Rabindranath Tagore
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Question Number : 12 Question Id : 3922664892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 13 Question Id :
Display Question Number : Yes

Defence Research
(DRDO) head quarter is at

Hyderabad
New Delhi
Chennai

Bengaluru
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3922664893 Question Type : MCQ Option Shuffling : No
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The author of the book “The Kingdom of God is Within You™ is

L,

Options :

1. %]
2.2
3.%3
4.% 4

Question Number : 14 Question Id :

Charles Dickens
Leo Tolstoy
Albert Einstein

Maxim Gorky
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Display Question Number : Yes
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The “Pradhan Manthri SVANidhi” scheme is for the economic
support of this group.

1. School Ayas

b2

Government women Emp]D}'E!ES

o]

i Street Vendor

4. Household Women
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Question Number : 15 Question Id : 3922664895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In India, the Goods and Service Tax Council was constituted
in the year
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Options :
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3. % 3
4. % 4

Question Number : 16 Question Id : 3922664896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On 28. 29 December 2024 the 6™ World Telugu Writers
Mahasabha was organized in this city

l. Rajahmundry
2. Tirupati
3 Visakhapatnam
4. Vijayawada
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 17 Question Id : 3922664897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per the *Beti Bachao Beti Padhao™ report for 2023-24, the
sex ratio at birth (SRB) has increased from 918 to
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Options :
1. %1
2. %2
3.3
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Question Number : 18 Question Id : 3922664898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The new Governor of RBI appointed in December 2024 is

1. B.V.R. Subrahmanyam

2. Madhabi Puri Buch
5 Shaktikantha Das
4. Sanjay Malhotra
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2. %2
3.% 3
4.9 4

Question Number : 19 Question Id : 3922664899 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This country has become the World's 3™ largest smart phone
exporter as on December 2024 is

1. England

2 Brazil

3 [ran

4. India
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Question Number : 20 Question Id : 3922664900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



On 14 December 2024, the President of this country faced
Impeachment resolution

L. Taiwan

M

South Korea

o]

& North Korea
4. Thailand

f e 'd il fes i
p Sl b fl et f e Z A id 2024 +5 14

eyt J

L z:'fi_:':f‘ 2
!:J.ﬂ’l y_:‘.‘li: 3
Wi 4

Options :

1. % 1

2.¥ 2
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4, % 4

Section 2

Section Id : 392266160
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266160
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922664901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Viharas. monasteries are the educational centers of this time

L. Jain period

(]

Buddist period

3 Modern period
4. British period
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Question Number : 22 Question Id : 3922664902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

"Philosophy is Science’ said by

1. Cicero

2. Aristippus
;. Rousseau
4, Fiche
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 23 Question Id : 3922664903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Eswaribhai Patel Committee suggested that the teaching
and learning of SUPW should take place in this number of
stages
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Question Number : 24 Question Id : 3922664904 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



NEP - 2020 has announced that model government
universities that can provide education on par with IITs and
[IMs will be called by this name.
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L. National Institutes of Eminence (NIEs)
2 Central Universities of Excellence (CUE)
3. Multidisciplinary Education and Research Universities
(MERUs)
4. [nstitute of National Importance (INIs)
Options :
1. %1
2. %2
3.¥3
4.% 4

Question Number : 25 Question Id : 3922664905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Child Labour Act 1986 defines children are those who
have not completed the age (in years)
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2. 18
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4. 16
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Question Number : 26 Question Id : 3922664906 Question Type

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

"Academic Guidance Register’ is a

: MCQ Option Shuffling : No

1. Supervision and Inspection Register
2 Resister of Correspondence
3. General Register
4, Financial register
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Question Number : 27 Question Id : 3922664907 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



According to the UNICEF, UNESCO, WHO the skills of
"Empathy’ falls in the following life skill domain

1. Social skills

2, Thinking skills
o Communication skills
4. Munaﬁing skills
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Question Number : 28 Question Id : 3922664908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the RTE Act -2009, the teaching hours for 1-5

classes in an Academic Year are
=
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1. 1000
2. 800
3 600
4. 500
Options :
1% 1

2.2



3. % 3
4. % 4

Question Number : 29 Question Id : 3922664909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Through these constitutional amendments, a policy has been
formulated that schools operate under the ownership of
Panchyat Raj
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Options :

1. % 1

2. % 2

3.% 3
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Question Number : 30 Question Id : 3922664910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



These opportunities should be provided in schools for

knowledge construction

1. English language teaching
2, Strict discipline
5 2 Questioning and discussions
4. Strictly conducting exams
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Options :
1. %1
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3.¥3
4, % 4

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 31 Question Id : 3922664911 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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If the chronological age and the mental age of a boy are 15
years and 18 years respectively. then his Intelligence Quotient
(1Q) is

LB BEUI-c b 18 side 15 27, £ 355 £ 32 $ &
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1. 120

2. 130

3. 140

4. 150

Options :
1.v1
2. %2
3.% 3
4. % 4

Question Number : 32 Question Id : 3922664912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Teachers should have the knowledge about Individual
Differences because

I They can assess the students easily.

2, They can understand the family background of the
students.

; Educational opportunities can be provided basing on

students’ abilities.
4. The financial status of students can be improved.
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Question Number : 33 Question Id : 3922664913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Barrier to creative thinking is

1 Foster independence

2. Strictly following rules

3 Encourage curiosity

4. Develop a broad and rich knowledge base
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Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 34 Question Id : 3922664914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Creative writers, poets and people with high literary knowledge
possess high level of this intelligence

1. Mathematical logical intelligence
2 Music Rhythms intelligence

3. Naturalistic intelligence

4. Verbal language intelligence
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Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 35 Question Id : 3922664915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding the Psychologist and

EKPE]'iIIlE‘:]ItS.

1. Ebbinghaus a. Memory
i1. Alfred Binet b. Emotional development
ni.  Elizabeth Hurlock c. Intelligence Quotient

1v. J B Watson d. Developmental stages
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Question Number : 36 Question Id : 3922664916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A man works in a company. Recently he started working hard
hours together expecting a hike in the salary. Here the motivation
s

I Achievement motivation
2. Intrinsic motivation
g e = P
3, Extrinsic motivation
4. General motivation
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Question Number : 37 Question Id : 3922664917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Chimpanzee is used as subject in experiments conducted in this
learning theory

l. Classical conditioning
2. Operant conditioning
3. Social learning
4. Insightful learning
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Question Number : 38 Question Id : 3922664918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Example for Projective technique is

L. Rating Scale
2, Children Apperception Test
% Questionnaire
4. Minnesota Multiphasic Personality Inventory
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Options :

1. %1
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Question Number : 39 Question Id : 3922664919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

People with comprehensive personality have this characteristic

L. Self-awareness

2, Emotional instability

3. Lack of decision making capacity
4. Pessimism

Options :



1.v1
2. % 2
3.% 3
4. % 4

Question Number : 40 Question Id : 3922664920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Thematic Apperception Test, number of cards used are

. Picture cards 20, White cards 10
2. Picture cards 30, White card 1

5 Picture cards 25, White cards 5
4, Picture cards 20, White cards 20
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Options :

1. % 1
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Section 4

Section Id : 392266162
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 392266162



Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922664921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Expansion form of NADPH
F 37 7S NADPH

1. Nicotinamide Adenosine Di Hydrogen Phosphate
i Nicotinamide Adenosine Dinucleotide Hydrogen Phosphate
3 Nicotinamide Adenosine Dinucleotide Phosphorous
Hydrate
4. Nicotinamide Adenine Di Phosphate Hydrogen
Options :
1. %1
2.2
3.% 3
4.% 4

Question Number : 42 Question Id : 3922664922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The overgrowth of Algae in ponds will ultimately results in
decreasing levels of

1. Carbon dioxide

Z Oxygen

]

3. Nitrogenous materials

4. Chemicals
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Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 43 Question Id : 3922664923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The global warming is due to
1) Human activities

1) Depletion of forest area
11) Industrialization

1iv)  Using CNG as fuel
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Options :

1. %1

2. %2
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Question Number : 44 Question Id : 3922664924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The gas that is produced due to incomplete burning of fuels

k. Carbon dioxide
2. Nitrogen oxide
3. Carbon monoxide
4. Nitrogen
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Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 45 Question Id : 3922664925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[dentify the inorganic impurities in sewage water
1) Nitrates

1) Urea

1)  Phosphates

1v)  Herbicides
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Birds find the directions for their migration by

Ii; Following coriolis effect.
2 Observing ocean currents.
3; Using the magnetic field of Earth.

o

Changes in air pressure
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Options :
1.% 1
2.% 2
3.3
4. % 4

Question Number : 47 Question Id : 3922664927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Deforestation does not lead to

1. Increase in temperature and pollution.
2., Increase in water holding capacity of soil.
3 Decrease in humus.
4. Decrease in ground water.
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 48 Question Id : 3922664928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a part of Pachmarhi Biosphere Reserve
1. Bori

2 Satpura
3. Lockchao
4. Tawa reservoir
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Options :

1. %1
2. % 2
3.3
4. % 4

Question Number : 49 Question Id : 3922664929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This helps to reduce the consumption of fossil fuels
1) Using public transport

i) Turning off fans and lights when not in use
i)  Using solar energy
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Options :
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Question Number : 50 Question Id : 3922664930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Niche does not denote

L. What the animals eat
2, Number of organisms
3. Animals mode of life
4. Organisms occupation
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Question Number : 51 Question Id : 3922664931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The disease caused by bioaccumulation of methyl mercury

1. Multiple sclerosis
2. Silicosis

3. Myosarcoma

4. Minamata
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 52 Question Id : 3922664932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The percentage of biomass transferred from one tropic level to
the next in a food chain is
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L. 90%

2. 50 %

3, 10 - 20 %

4. 30 — 50 %

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 53 Question Id : 3922664933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The dead cells in phloem

E; Sieve cells

2 Sieve tubes

3 Phloem fibres

4. Phloem parenchyma
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Options :
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3.3
4. % 4

Question Number : 54 Question Id : 3922664934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The best method for watering fruit plants, gardens and trees

I Sprinkler system

2. Chain pump
3. Drip system
4. Rahat
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Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 55 Question Id : 3922664935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Vitamins available in fish

1) E
1) D
1) Niacin
1v) A
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| 1, 11, 1V
- 1, 1V
3. 1, 11, 1il
4. 1, 111, 1V
Options :
1. % 1
2. % )
3.% 3
4.9 4

Question Number : 56 Question Id : 3922664936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[dentify the festivals that are associated with harvesting season

d.

b.

g

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 57 Question Id :
Display Question Number : Yes

Pongal
Deccan festival
Bihu

Nabanya
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The microorganism that reproduces only inside the cells of the
host organism is

I Bacteria
2. Virus
i Fungi
4. Protozoa
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Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 58 Question Id : 3922664938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



"Anthrax’ disease causing bacteria was discovered by

1. Robert Brown
2 Robert Hooke
3; Robert Koch
4. Robert Villium
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Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 59 Question Id : 3922664939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Protozoan diseases among the following
1) Tuberculosis
i) Dysentery
i)  Typhoid
iv)  Malaria
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Options :
1. %1
2.9 2
3.%3
4. % 4
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘False” statements regarding “mitosis’
1) It helps in growth of tissues in organisms.

1) Daughter cells have half the number of chromosomes
than that of the mother cell.

1)  Mother cell divides to form two identical daughter cells.
iv)  This process will not help in repair of tissues.
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Question Number : 61 Question Id : 3922664941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



All cells arise from pre-existing cells, suggested by

1. [Leeuwenhoek
2. Schleiden - Schwann
3 Virchow
4. Purkinji
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Question Number : 62 Question Id : 3922664942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[dentify the mismatched pair from the following

Collenchyma — Flexibility in plants

2 Sclerenchyma — Husk of coconut
3 Aerenchyma — Storage of food
4. Phloem — Transport of food
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 63 Question Id : 3922664943 Question Type : MCQ Option Shuffling

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Correct statements regarding unstriated muscles
1) They are also called smooth muscles.

1) They are voluntary muscles.

i)  These cells are spindle shaped.

V) These cells are multinucleate.

: No
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2. %2
3.¢¥3
4. % 4

Question Number : 64 Question Id :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks :

3922664944 Question Type : MCQ Option Shuffling : No
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Match the following

L. Smooth endoplasmic reticulum A, Lysosomes
IL. Energy currency B. Synthesis of Proteins
[II.  Rough endoplasmic reticulum , 6 ATP
IV.  Suicide bags D. Synthesis of Lipids
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Options :
1% 1
2.92
3.% 3
4. % 4

Question Number : 65 Question Id : 3922664945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Cockroaches have

1. Three pairs of wings, Two pairs of legs
2. Two pairs of wings, Two pairs of legs
e 3 Three pairs of wings, Three pairs of legs

4. Two pairs of wings, Three pairs of legs
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Options :

1. %1
2.% 2
3.% 3
4.4 4

Question Number : 66 Question Id : 3922664946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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‘Rib Cage’ formed by
1) Ribs

i) Pelvic bone
i)  Chest bone

iv)  Backbone
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Options :

1. % 1

2.9 2
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4. % 4

Question Number : 67 Question Id : 3922664947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This is NOT the character of a desert plant

1) Loses very little water through transpiration.
1) [t has broad leaves.

i)  Photosynthesis is carried out by the stem.

1iv) It has roots that go very deep into the soil.
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Display Question Number : Yes
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Example for ‘Divergent evolution’
. Fore limb of a Whale — Hand of a Human
Wings of a Bat — Wings of a Butterfly

(S8

.

% Fore limb of Cheetah — Wing of Butterfly
4. Wing of Bat — Wing of Bird
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Options :
1.¥1
2.% 2
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4. % 4

Question Number : 69 Question Id : 3922664949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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"Archeopteryx’ is a/an

i Connecting link

2 Living fossil

3; Evidence from embryology
4. Analogous organ

< LI ‘Archeopteryx’

.
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Options :
1.v 1
2. % 2
3.%3
4. % 4

Question Number : 70 Question Id : 3922664950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Dominant trait in pea plant

1. Yellow colour pods
2 Axial flowers
3. Constricted pods
4. White colour flowers
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Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 71 Question Id : 3922664951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The correct order of stages of a cell cycle
=G Su putans
k: S-Gi-G:-M
M-S-Gi -G
3. Gi-S-G:-M
4. G -M-S-G;

1
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Options :
1. %1
2.% 2
3.°3
4. % 4

Question Number : 72 Question Id : 3922664952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[dentify the correct sequence with respect to reflex are

. Sensory nerve — Receptor — Motor nerve —
Interneuron —Effector organ

2, Receptor —Sensory nerve — Interneuron — Motor
nerve — effector organs

; 7 Motor nerve — Interneuron — Effector organ —
Sensory nerve — receptor
4. Interneuron — Effector organ — Sensory nerve —
Receptor — Motor nerve
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1% 1
2.92
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External fertilization can be seen

a. frog
b. whale
e fish
d. star fish
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The stage of an embryo in which all the body parts can be
identified 1s

1. Zygote
2 Blastula
A Gastrula
4. Foetus
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The parts in the stamen are

1. Anther, style

2. Style. filament
3 Anther, Filament
4. Style. Stigma
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Options :
1. % 1
2.% )
3.¢3
4. % 4

Question Number : 76 Question Id : 3922664956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[dentify the plant that can produce new plants from detached
part of parent plant leaf is

i, Bryophyllum
2 Hibiscus
3. Marigold

4. Rose
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Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 77 Question Id : 3922664957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
They carry ‘Hunger Generating Signals’ to brain
1) Diencephalon
1) Trigeminal nerve
i)  Cerebellum
iv)  Vagus nerve
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Find the mismatched pair

L. Testes — Testosterone
2, Ovary — Progesterone
3. Pituitary — Leutenizing hormone

-

Adrenal — Thyroxine
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Options :
1. %1
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Question Number : 79 Question Id : 3922664959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls Heart beat
I. Cerebrum

Medulla Oblongata

3. Cerebellum

1o

4. Diencephalon
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 80 Question Id : 3922664960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The organisms that excrete uric acid
1) snake
i) fish
111) bird
V) man
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Options :
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Identify the correct sentence/sentences
1) The right kidney is placed lower then left kidney
1) The right kidney is placed upper than left kidney

ii1) The right kidney is bigger than left kidney
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Options :
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Question Number : 82 Question Id : 3922664962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Xylem

I Transports the food in plants

9

Transports the food and water

3. Transports the water only
4. Transports the water and minerals
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Options :
1. %1
2. % 2
3.% 3
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Question Number : 83 Question Id : 3922664963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Capillaries were discovered by
1. Marcello Malphigi

2. William Harvey
3. Girolamo Febrici
4. Rene Laennec
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Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 84 Question Id : 3922664964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Assertion (A): Pulmonary vein carries oxygenated blood.

Reason (R):  Pulmonary vein carries blood from lungs to

heart.
1. A 1s correct and R is incorrect.
2. A 1s incorrect and R is correct.
3 A 1s correct and R is correct explanation of A.
4. A is correct R is not correct e‘(platmtion DfA
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[dentify the organism that does not respire through diffusion

1. Amoeba
2. Cockroach
3. Round worm

4. Planaria
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Question Number : 86 Question Id : 3922664966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The aeral roots are seen 1n

I Mangroove plants

(S8

Aquatic plants
3. Terrestrial plants

4. Xerophytes
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Options :
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Question Number : 87 Question Id : 3922664967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The concentration of oxygen at a height of 13kms above sea
level 1s
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“True’ statement regarding ‘Oesophagus’

I Passes tood to stomach

9

Walls do not secrete mucus

3 Upper end connects to stomach
4. Lower end connects to pharynx
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Chlorophyll helps

1. Leaves to capture the energy from the sunlight
2, To trap the CO, and converts in to energy

3 Chloroplast to absorb O, through stomata

4. To excrete CO, through stomata
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[dentify the mismatch

L. Symbiosis - Beans plant

[

Insectivorous - Pitcher plant
% Parasite - Cassia

4. Saprophyte - Mushroom
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The roots that store food

A)
B)
C)
D)

[

fid

4.

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 92 Question Id :

Potato
Sweet Potato
Ginger

Tapioca

A&B
C&D
A&C
B&D

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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[dentify the mismatch

1. Vitamin A — Night blindness

b2

Vitamin C - Anemia

3. Vitamin D - Rickets

.

4. [odine — Goiter
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[dentify the substance that does NOT turn blue in lodine test

1. Idly
2 Potato
L Milk

4. Cooked rice
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Organisms that reproduce through spores are
A)  Fungi

B) Hydra
£) Mosses
D)  Ferns
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The heartbeat of a 6-12 month infant per minute is
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3 70 - 130
4. 60 — 100
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 96 Question Id : 3922664976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Fermentation of Idili and Dosa batter 1s carried out by
1) Bacteria

1) Virus

i)  Yeast

V) Protozoans
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Percentage of tall plants produced in F; generation when a
homozygous tall plant is crossed with heterozygous tall plant
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L. 100%
2 15%
3 50%
4. 25%

Options :

1.1
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Question Number : 98 Question Id : 3922664978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[ncorrect match among the following

1. Nimbin - Antiseptic

2 Pyrethroids — Sedative
3 Morphine - Pain killer
4. Quinine - Anti malarial drug
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4. % 4

Question Number : 99 Question Id : 3922664979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Asserssion (A): Siberian crane migrates from India to Russia
when winter season sets in.

Reason (R): They must keep their body warm to survive
in cold regions of the Earth.

1. A and R both are incorrect

2, A is incorrect; R is correct

3 A is correct; R is correct explanation for A

4. A 1s correct; R 1s not a correct explanation for A

Choose the correct answer
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These are not soil conservation methods

a) contour planting
b) planting gliricedia on field bonds
C) plants crops along the slope

d) Repeatedly planting the same type of crop in the
same field
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The Primary CO; acceptor in Cy4 plants

L. Ribulose bisphosphate

o

Phosphoenol pyruvate

e

Phosphoglyceric acid

4. Ribulose
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The mechanism of opening and closing of photoactive
Stomata is explained with K* pump theory by

3 Levitt

2, J.C. Bose
3 Henry Hill
4. Calvin
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According to Whittaker. Non cellulosed cell wall and
multicellular, heterotrophic. nuclear membrane containing
organisms

Plantae
2 Protista
3, Fungi
4, Animalia
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Question Number : 104 Question Id : 3922664984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A newly emerged Pandamic COVID — 19 is caused by
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1. SARS — CoV -2 Virus
2. SARS — CoV -1 Virus
3. SARS — CoV - 3 Virus

4, CORONA virus

Options :
1.v1
2. %2
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4. % 4

Question Number : 105 Question Id : 3922664985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The phenotypic ratio of F, generation that shows Incomplete
Dominance
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Options :

1. % 1

2.9 2
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Question Number : 106 Question Id : 3922664986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The book “Families of Flowering Plants™ is written by

L, Bentham & Hooker’s
2. Engler & Prantl
& Linnaeus

4. J. Hutchinson
—i<* L _ (I ~Families of Flowering Plants™
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1. %1
2. % 2
3.% 3
4.9 4

Question Number : 107 Question Id : 3922664987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Plant that show Hypohydrophily

1. Vallisneria
2 Hydrilla

3. Zostera

4. Pistia
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Display Question Number : Yes
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The incorrect reason to say “Peaseeds swell more than wheat

seeds”
1. Pea seeds contain proteins so imbibition is more
2 Wheat seeds are made up of carbohydrates so

imbibition is less than proteins

3. Carbohydrates have high imbibing capacity compared
8 b b J
o proteins
4. Proteins have high imbibing capacity compared to
carbohydrates
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Plants with less significant roots, absence of root cap, absence
of stomata and contain aecrenchyma are

1. Mesophytes
2. Xerophytes
3: Hydrophytes
4. Lithophytes
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Question Number : 110 Question Id : 3922664990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Plants that send haustorial roots into the xylum of the host
plant to get water and minerals are
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Options :
1.¥ 1
2.% 2
3.%3
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Question Number : 111 Question Id : 3922664991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The composition of oxygen in dry air by volume is
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1. 20.94%

2. 21.96%
3 20.01%
4. 22.63%

Options :
1.9 1
2. % 2
3.% 3
4, % 4
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Display Question Number : Yes
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Heparine synthesizing blood cells are
1. Acidophiles

2 Neutrophiles

3, Basophils

4. Lymphocytes
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Human Insuline contains 51 amino acids. In that

I Chain A has 30 Amino acids & chain B has 21 Amino
acids

7.8 Chain A has 21 Amino acids & chain B has 30 Amino
acids

3. Chain A has 20 Amino acids & chain B has 30 Amino

acids and chain C has 1 Amino acids

4. Chain A has 30 Amino acids & chain B has 20 Amino
acids and chain C. 1 Amino acid
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The most common abnormalities that can be detected by
Amniocentesis

i Down syndrome ., Hypertrichosis
2 Edwards syndrome, Hypertrichosis
3; Down syndrome, Edwards syndrome
4. Hypertrichosis, Hypotrichosis
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Father of modern Embryology is

I, Ernst Haeckel

o

Stanley miller

o

3. Herbert Spencer
4. Van Baer
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Options :

1. % 1
2.% 2
3.% 3
4.9 4
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Display Question Number : Yes
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The excretory organ that decomposes Haemoglobin of worn-
out RBC’s in the human body

1. Skin
2 Kidney
L9 Liver
4. Lungs
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Question Number : 117 Question Id : 3922664997 Question Type : MCQ Option Shuffling :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Pantacronematic flagella is seen in
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1. Urceolus
2 Monas

3 Polytoma
4. Astasia

Options :
1.¥1
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Question Number : 118 Question Id : 3922664998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Correct sentences related to Haemolymph of periplaneta
1) Haemolymph is colourless and has plasma.
1) Haemolymph has no corpuscles.
i)  Phagocytes engulf germs to protect.

1v)  Haemolymph does not transport secretions of
ductless glands to target organs
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Identify the incorrect pair

1. Cytozoic - Nosema
2. Histozoic - Entamaoeba
3. Coelozoic - Wuchereria
4. Monogenetic - Ascaris
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The only cells of mesodermal origin in the nervous system are

1. Satellite cells

b2

Schwann cells
Do Microglia
4. Astrocytes
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1. %1

2.% 2
3.3
4. % 4
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Section Id : 392266163
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Section type : Online
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Number of Questions : 40
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Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 392266163
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 3922665001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specific behavioural change of the student after
completing teaching is known as

L. Objective

2 Alm
3 Specification
4. Goal
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4. % 4

Question Number : 122 Question Id : 3922665002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The word *Biology’ was first used by
1. Charles Darwin

Mc. Dogel

J.B. Lamarck

4, Williamson
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A student defined “Photosynthesis™ by using exact terms. This
behaviour is related to the following objective

L Knowledge

Z Understanding
3. Analysis

4. Evaluation
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A student has shown interest to make an improvised model of
stethoscope at home. According to Krathwohl this belongs to
the division

ks Valuing

.7 Responding
3. Receiving
4. Organizing
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One of the following characteristics i1s NOT applicable to
objective

1. Has academic importance
2 Observable in student’s behaviour
3. Achievable in specific time period
4, Based on teacher’s competency
_U“-ﬂ.‘ JVF::{,_,:'P Lw‘;f?ﬂ?:ﬂﬂ-ur:vt::", A3
Pl r
iy I |
_’;E'Ku-kﬁii&#u:‘ur:;l)fl;r“__flu:‘ B
g il e
et oLl S b fea S L 3
ety B8 s B S 4
Options :
1. %1
2.% 2
3.% 3
4.9 4

Question Number : 126 Question Id : 3922665006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Teacher’s casual leaves are to be considered while planning
1. Lesson plan

2 Unit plan

3. Year plan
4. Period plan
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Question Number : 127 Question Id : 3922665007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To prepare a period plan for the topic “Agriculture’, the first
step to be taken is

k. Selecting teaching aids

2. Selecting academic standards

) Selecting content

4. Preparing Questions for motivation
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This can be mentioned while teaching about Louis Pasteur

1. Natural selection

2 Germ theory of diseases
3, Theory of Inheritance
4, Germ plasm theory
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When a teacher explained about Venom glands by showing
Scorpion specimen. The type of learning experience received
IS

I Direct experience

2 Representative experience
3; Indirect experience

4. Specialized experience
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After discussing the characteristics of animal and plant cells a
teacher asked students to observe the cell structure under
microscope. The teaching method is followed here is

I, Deductive method
2. Inductive method
X Demonstration method
o Heuristic method
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Display Question Number : Yes
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7™ class students learned ‘Water ecosystem’ by making an
aquarium in the school, the teaching method followed here is

1. Heuristic

2 Project

3 Problem solving
4, Demonstration
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The best method to teach ‘Flower and its parts’ to 7% class
students is to

L. Explain through diagrams
2 Define parts of flower and show them
3 Ask students to observe parts of flower in different

flowers and tell the details
4. Give a lecture about the parts of a flower.
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Display Question Number : Yes
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The concepts, hypothesis developed in the classroom are
validated in this method

1. Heuristic method
A4 Project method
3. Laboratory method

=

Assignment method
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"Performing a drama’ is an example for this project

1. Consumer project

2. Producer project

3. Drill project

4. Problem type project
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Display Question Number : Yes
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In Bloom’s Taxonomy ‘evaluation’ is at top order where as in
revised classification, this is at top order.

1. Analyzing

2, Executing

3. Creating

4. Synthesizing
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Teacher explains about this while teaching ‘yellow revolution’
1. Pisciculture

3 Milk production

O1l seeds

4. Orchards
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This teaching pedagogy welcomes conflicts in children life
into classroom

L. Idealistic Pedagogy

2, Critical Pedagogy
3, Organic teaching

4. Pictorial Pedagogy
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Question Number : 138 Question Id : 3922665018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The term library is derived from this Latin word
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il LI U library Li

I Lebar
X Libis
B Libar
4. Labor
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Question Number : 139 Question Id : 3922665019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Mult1 sensorial teaching approach — VAKT, K-Stands for
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L. Knowledge
2, Kinesiology
3. Kymatology
4. Kinesthetic

Options :
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Question Number : 140 Question Id : 3922665020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[nstructions given in a question are complex and ambiguous.
This question does not have

g Validity

2. Reliability
3; Objectivity
4. Discriminative power
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2.9 2
3.% 3
4, % 4

Question Number : 141 Question Id : 3922665021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Weightage given for the academic standard. Asking questions
— Making hypothesis in summative evaluation 1s
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Display Question Number : Yes
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The Dutch educationist stated that rote learning should be
removed from education system is

. John Comenius
2. Decederius Erasmus
3 Dwite Allen
4. Olive Mnrgan
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Display Question Number : Yes
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Identify mismatched pair

& Comenius — Published a book on children’s Science
experiments
2, Rousseau — Remove unnecessary words in teaching

3. Frobel — Priority given for pictures in teaching
4. Montessori — Sensory organs are gateways of
knowledge
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One of the following evaluations is useful to know the
strengths and weaknesses of students before starting Teaching
Learning process

I Formative evaluation
2, Peer group evaluation
3. Diagnostic evaluation
4. Self-evaluation
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Question Number : 145 Question Id : 3922665025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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This 1s one of the limitations of Herbart approach in the
preparation of lesson plan

L. Activity based
2. Follow both inductive. deductive methods
8 More priority is given to teacher

4. Recapitulation
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This suggests certain tools and strategies followed by teacher
to make students to achieve general, specific objectives is
known as

I. Basic curriculum
2, Year plan
3. Lesson plan

4. Unit plan
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According to Edgar Dale the following experiences have ever
lasting effect on learning

1 Visual experiences
2 Activity based experiences
3 Audio visual experiences

4. Auditory experiences
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Question Number : 148 Question Id : 3922665028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is NOT in the first step of period plan
Mind mapping

2 Demonstration - Discussion
3. Announcement of topic
4. Probing questions
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 149 Question Id : 3922665029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct sentence related to field trips

a. Using community resources
b. Bringing community to the class
C. Taking class to the community
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The word curriculum is derived from a Latin word

*

< 3o i) Jf Ut curriculum 52

i Curricula

1

Currere

o

3. Curriculus
4. Curricurrer

Options :
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Question Number : 151 Question Id : 3922665031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The 10 core elements in the curriculum was emphasised by

i Radha Krishnan Commission

1

Mudaliar Commission

o

3. National Policy on Education - 1986

4. National Education Policy — 2020
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Question Number : 152 Question Id : 3922665032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Hunter score card 1s related to

1. Intelligence test
2 Personality inventory
3 [nterest inventory
4, Textbook evaluation tool
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Question Number : 153 Question Id : 3922665033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First step in 5-E model of learning

1. Explore
2. Engage
3. Elaborate
4, Evaluate

Options :

1. % 1

2.¥2

3.% 3



4. % 4

Question Number : 154 Question Id : 3922665034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following characteristics is NOT relevant to the
improvised aid

I; made of locally available material
2, Technical knowledge is required to prepare
3. Economically useful
4, less time 1s required
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Universal antidote 1s a mixture of

1. Charcoal, Magnesium oxide and Boric acid

2 Charcoal, Magnesium oxide and Tannic acid
3. Charcoal, Hydrogen Peroxide and Boric acid
4. Charcoal, Sodium Carbonate and Tannic acid

< £6U7 Universal antidote

g

PO i i i

& f bl Y |
S e RIS Y e g

- "‘f:'a [F I. rf}'
n"'.xfn-'L'U’J.-‘-'lﬂ Il - {V" A 2

ERE. S e ST - k- k("’.
L X2 2 T s A Y e 3

.
-
=

Options :
1.% 1
2.2
3.%3
4. % 4

Question Number : 156 Question Id : 3922665036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first aid to be given in case of acid burns in the science
laboratory

L. Wash with large amount of running water
I1. Neutralize with sodium bi carbonate
III. Neutralize with 1% Acetic acid

IV. Wash with silver nitrate
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Conduct interview on plant and animal products is relevant to
this academic standard.

1. Experiments, Field Investigations
2, Information Skill, Project Work
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3L Conceptual understanding
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Identify wrong statements regarding science

L. Arrests rational thinking
2 Promotes skepticism

3 Demands perseverance
4. Dynamic in nature
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Discovering Covid vaccine
Science value.

1.

w1

Options :
1.¥ 1
2. %2
3.%3
4. % 4

Utilitarian value
Moral value
Medical value

Cultural value
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The author of books “The Living and Non Living’, “The
Nervous Mechanism of Plants’ is

1. Birbal Sahni
2 Rosalind Franklin
3 J.C. Bose

4. Elizabeth Black Burn
¢« “The Living and Non Living’

267" “The Nervous Mechanism of Plants’
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